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1. What will happen when you try to compile and run the following program?

class Test {
int milesPerGallon;
int index;
Test(int mpg) {
milesPerGallon = mpg;
index = 0;
}
Test() { } ;
public static void main(String[] args) { SRR
int index; ; ‘
Test ¢ = new Test(25);
if (args.length > 0)
if (args[index].equals("Hiway"))
milesPerGallon*= 2; ;
System.out.println("mpg: " + milesPerGallon);

3

Select the one right answer.

A. The code compiles and displays "mpg: 50" if the command-line argument is "Hiway". If
the command-line argument is not "Hiway", the code displays "mpg: 25".

B. The code compiles and displays "mpg: 50" if the command-line argument is "Hiway". If
the command-line argument is not "Hiway", ) the code throws an
ArrayIndexOutOfBoundsException.

C. The code does not compile because the automatic variable named index has not been
initialized.

D. The code does not compile because milesPerGallon has not been initialized

E. The code does not compile because the no-args constructor is not written correctly.

IEMEE: C

R ARELRNTEATEMEAL, PRAXARLE, M AFHHMEA. o R AT

EHUBAEF, ARLREBER S M. Bk, £IRBT & T main ik
bk A4 e th B 3 E & index & T EAR X F index FEAA, B vA 2 3% 19 #K
WAk, T ERINEREE, HpiFrEidid,

2. What will happen when you compile and run this program:

class Test {

public static void main(String[] args) {
int length = 100;
int[] d = new int[length];

for (int index = 0; index < length; index++)
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System.out.println(d[index]);

}
Select the one right answer.
A. The code will not compile because the int[] array is not declared correctly.
B. The code will compile but will throw an IndexArrayOutOfBoundsException when it
runs and nothing will appear in the standard output.
C. The code will display the numbers 0 through 99 in the standard output, and then throw
an IndexOutOfBoundsException.
D. The code will compile but the println() method will throw a NoSuchMethodException.
E.  This code will work fine and display 100 zeroes in the standard output.
IEMiZER: E
ﬁﬁ:$ﬂ%§%iﬁ%ﬁi#%moE%R&?%%iiMMx&ﬁmﬁ&ﬁ%ﬂﬁ
WA 0, BME st L& index 6945 9 3 4 3% .

3. What is the result of attempting to compile and run the following class?

class Test {
public static void main(String[] args) {
int[] seeds = new int[3];
for (int i = 0; i < seeds.length; i++)

System.out.println(i);

}
}
Select all valid answers.
A. 0
B. 1
€, 2
D. 3

E. the program does not compile because the seeds array is not initialized
EMZ%: A. B. C
R AMERGTERRARENBL., —ABBEFPVE, REAALELRES Y
HBEXE AT L, HARBTHIE seeds WAL H 3AALE, FTALSE
MAEGMEEA 0, 1, 2, 3F 444,

4. How you can use the escape notation \u to set the variable ¢, declared as a char, to the
Unicode character whose value is hex 0x30A0?

Fill in the blank.
EMZEE: ¢ =\u30A0;
B AMERGELER Java BT P F RN S —AAEFX, A 445 16 4] 49 3 Ao
L\u AT & &R KK —A Unicode % 24 #9 F 45 .
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5. Which label name(s) are illegal?

Select all valid answers.

A. here:

B. _there:

C. this:

D. that:

E. 2tolodds:
EMER: C. E

¥ AMAERGESAIFRAOEART. JavaiE T P HE, HIAFREEANLZN
LT AREF, FAFRFREAFE, SHTREF X, MENWFHTUARAF
&. 5. FTR&AKF. B, &% CIA, B # this &G F. &R E LT3,
B # 2tolodds AE F I X.

6. What will happen when you attempt to compile and run the following program by passing
the Test class to the Java interpreter?

class Test { : o i
public static void main() {
System.out.printin("hello");

}

Select the one right answer.
A. The program does not compile because main() is not defined correctly.
B. The program compiles but when you try to run the interpreter complains that it cannot
find the main() method it needs to run.
C. The program compiles but you cannot run it because the class is not declared as public.
D. The program compiles and runs without an error but does not display anything in the
standard output.
E. The program compiles and displays "hello" in the standard output when you run it.
EM%ZEE: B
R AMARMHESR Java LA #2 B main()# % 6 &£ X . main()F =2 —A Java B A
BABAT., ATHAE-AEARLA, SRR EYZ L —A main()F % . main()
Fikth R B ELEEH:
public static void main {String[] args}
S, AMHARATFRELSTTRRA P A% B, & main()# F Z X R T
#®, aRGBEFTEL, f2iE 47 B & ik IR A # 4 main()F & .
7. Which statements about garbage collection are true?
Select all valid answers.
A. You can directly free the memory allocated by an object.

B. You can directly run the garbage collector whenever you want to.

C. The garbage collector informs your object when it is about to be garbage collected.
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D. The garbage collector reclaims an object’s memory as soon as it becomes a candidate

for garbage collection.

E. The garbage collector runs in low-memory situations.

IEHER:

i 3.

B. C. E

ABERNEXRE B QM BITAH ., £ Java b, QB DKR Tk &
FHEEAGAATR, BERAREZARABART L, RETUHE A3 A
E¥RZEH null. £F R TwA#B i3 A Runtime X System X #) gc()F ik RiE 474
BEaWss, PREAGYTAARIMK, 2420 DETERDKEBKBEEFR
MR EAGAGR BBt R2A.

8. How many bits are used to maintain a char data type?

Fill in the blank.

EHREE: 16

MR AMERGEARFTHEABEAYAESENARGRTF V24, 1R JavaE T H
B, FHEAAMEYGFTERARARKRFTFIEHAD 1642, Java T P A AL
At AR BRFTF I EL R AR,

F1l JavaBAXHEHRE

KE ARFHHE  KE ARFHE

boolean 1 5c5har 16

byte 8 short 16

int 32 long 64

float - 32 double 64

9. What is the syntax for specifying the size of an array in Java?

Fill in the blank.

FHER:
e

String[] args = new String[15];

AMAERGEERLTEXL-ABEZREAKEA, £Java ¥, FPAME-—INIRE

kA M EERA:

new datatype[size]

Java P OB R —AHKEGH R, EEGA—ROTRBEAUIARA. Hl4,

ik —AFHEFRERD T

String myVar = new String("Data");

Egms g B AERTRA:

o THM—ABEMBERAFTET, REHL-ANAEESFRRABET,

o IH—AfEREHE, new BUMATEAHKAAXGEEAN, AR
AgiBst g, new RUEFKEAME B,

L s — A A R, TR~ AR EXREERBILARD,
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10. What output is produced by the following program?

class Test{
public static void main(String args[]){
long size = 10; ;
int[] array = new int[size];
size = 20;

System.out.println(array.length);

Select the one right answer.
A. A compiler error.

B. A runtime error.

C. 10
D. 20
IEMER: A

R AMZERNTEAHARPHEL.
wRBEFZEF, SHART HEFHRE L
Incompatible type for new. Explicit cast needed to convert long to int.
Java BT P AAARBAMEKAEGHKBELARRARRAFTIE, AEAREY, 7
FHAKER,

11. What output is produced by the following program”

class Test{
public static void main(String args[]){
long size = 10;
int[] array = new int[size];
size = 20;

System.out.println(array.length);

Select the one right answer.
A. A compiler error.

B. A runtime error.

C. 10
D. 20
EMEE: C

R AMARGESAKEKRNGIER. BA Java BT PAEA kR KA

=
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BABARGERAFITE. BEAREY, AREIKEY, AUABEF IS4 4%
FHR. hTHEA-2482, AABAHKERALTHEOKXI ALY REKE
HERE, MAmEERA 10, AR 20,

12. True or false? Element values in Java arrays are automatically initialized when the
array is constructed using the new operator.

Fill in the blank.
EHHER: True
B AMEROESASKBAE LWL, K5t £iB it newiEF & XHILE, AP H
AERBEIBEN GShmmesit, BT RASE.
HaFRRAEARA KOG ELR 2T,
F2 Java BAKEARR

*(E YA E il Vo E
byte 0 short 0

int 0 long ot
float 0.0f double 0.0d
char "\u0000' boolean False
reference null

VATFAAE TIERKMAA K GBI
class Test{
public static void main(String args[]){

int[] al = new int[1]; ‘
float[] a2 = new float[1];
boolean[] a3 = new boolean[1];
String[] a4 = new String[1];
System.out.print(al[0]+" "+a2[0]+" " +a3[0] + " " +a4[0] + "\n');

}

HAERAGET s NS El IR AR HATME/E: 00.0 false null

13. When an array of char elements is constructed, the elements are automatically
initialized to which of the following values:

A0
B. w0000’
FHEZR: B

MR AMERYTEIAMEAE L, FHARERA-ANAFSTHEUME, AhdiiHh
0, BP—A 16453 % 089%, MARFHO.
FAAFTIERAFHYKAAFE WL
class Test{

public static void main(String args{]){

char[] al = new char[1];
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System.out.println((int)al[0]+" "+(int)'0'+" "+(int)'1");

}

AAHE A 04849

BB AR, BT 3IANEEME, FANAEAEAFHRAG M. BiL
WMELRTUAE, FHREMYGMBLMAHIKIE 0, AARRE—ANAFH 0. H=
ANHREIER T F 06914 H 48, M KA 0.

14. What output is produced by the following program?

class Test{
public static void main(String args[]){
char[] al = {"\u0030',"\u0031'};
System.out.pfintln(altl]); i
) :
}

Select the one right answer.

A. A compiler error

B. A runtime error
C. 30

D. 31

E. 0

E. 1

IE#ER: F

B AMERGESAKBAT AL, LEAAETRT b Z % A WAL AH KA,
R ABEEF RIS T mbl. #E&xeT:
datatype[] arrayname = {datal,data2,...};
ik K F R Mk h — IR
o FH—AGIAKANRHIALE;
o RAfBAKAETH M- R (HAKEGWEAHMANHRZ);
o AL T HEMmIbEKATE.
EARAAAAREATHOF 1Y 16t s R HEKBAE. AU M EKAT
£ @IONMHEE A0, FoAKAAE @I1)WHBMEH'1. BLXHF X T8
FHALRAGT HAEAH M.
15. What output is produced by the following program? (Note the placeholder comma in
the boldface portion.)
class Test{
public static void main(String args[]){
char[] al = {"\u0030',,"\u0031'};
System.out.println(al[0]);




K N
= Java [EERIMIE (SCIP) # R 1000 51

b g
}
Select the one right answer.

A. A compiler error

B. A runtime error
C. O
FHER: A

R ABMA RO TS AHBAFTNSL. KALERT B ALK A S84 HKIAES,
ETUAOGREFRBEBAE, FxT:
datatype[] arrayname = {datal,data2,...};
WRARABETMBHENGFT X, LARBHAAAEG LML, HRERAHA
ES AP AAOD MBI BEEEAALE.

16. What is the name of the property of an array object that always contains the size of the
array and how may it be used?

Fill in the blank.
EWER: length
FERE: AM AR E 5 LMK length BHAEA., K length BHA KA EGK
B, PRAAEFANK. RFHEFEGKEM lengthOF HRF, TARKE,
VAFA A% length B AKX FHEKE:
class Test{
public static void main(String args[]){
char[] al = {"a’,'b','¢",'d"};
System.out.println(al[3] + " " +al.length);

}
BABEEH: d4

17. True or false? All Java applications and applets fequire a main() method.

Fill in the blank.
E#E % False
MR AHE R ESL Java B AAEFF Applet ZF YA T . main()F & RN Java
BAEAGAT. % Java B HAAR main()F ke, BEAEFMEZ. Applet £
AFREE man(F ik, A ESARRF X LS. AATLF KD itQOF &.

18. Show six different ways to express the decimal value 28 as an integral literal.

Fill in the blank.
ERLE: 28, 034, Oxlc, 0x1C, 0Xle, 0XIC
W AMERAESARRRHKORTS k. RATHTR O RA-DNFHIH,
BB AR Ox X OX RA—A T ~dt4is. wTtx@tdHKsH 0, 1, 2, 3,
4,5 6,7, 8 9, A, B, C, D, EmF, % 164FH, FastT A, B, C,
D, ERFTHKRNIBAFT. Bl 28 TUAFTARRIAFH 6 HEX.
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£33 BEBHIDHBETR

¥ AE ® B 4l g & ik
28 + i #l 0xIC + 7N Al
¥E$ it ¥ & bridc
034 J\ it 1 0Xle + 75 3t
Oxlc + 75 it Hl 0XIC + AN BEH

19. True or false? By default, an integral literal is a 64 bit value

Fill in the blank.
IEH& % False
R AMEARGESZILAVBAFTENARRFTOF M. RE Java B TRL, ¥
B ETEAARATREAFTF ALY 24, AKREREFENRARARKAF
FHAKR AL, KEXFERBEFHPARANEL, KEVLFSRANE I
B KB LHAHBRFR.

20. There are seven characters, at least one of which must be included to indicate a
floating point literal. What are they?

Fill in the blank.
FH%%E: 'E, ‘e, 'F, ', 'D', 'd, "
R AMERNTEASEIMAOATHE. Alavab XA RAFEH, FAHAEHE

FaRX Ak E. EMEH 4 LRTF X
o t+it#Hl AT, ¥l 1414,
® H¥H A%, Bl 423E+21 R 4.23e+21.
o I EH AT, ¥l 1.828f K 1.828F.
e MHEH AT, 4 1234D K 1234d.

21. Show how to represent a string literal.

Fill in the blank.
ERE& % "This is a String literal.”
R AMA RO ELAFTH SN ATER, Elava BT PARXFHELARA — 5P N3
SHARERATHAS. RErAL3 5, 2ISAREATEAFRAORT.

22. A Java array is an ordered collection of three kinds of things. What are they?

Fill in the blank.
[E#i% £, primitives, object references, references to other arrays.
M. AMARMESAKEATOALY, BREALGEANTHA 34 AARE. &
2 AN AKEM R, ERETAFAAMN, BAHAE Java P HALAZ K
stf, AR AR A hTRITAE,
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23. True or false? All elements in a Java array must be of the same type.

Fill in the blank.
ERER: True
Mg AMETERNELARBAETHRY, AFA—ANHAN, LABRTAMELKATF

AXGBRMMEY, wRAAALY, NHAFHAAEFLARAF —ERER.
W RANRIAEY, MEAS— AL A KEFH, ZIALARUATERE
Z—:
o HuF]mak;
o HuFERHRBE,
o IFATHKUMEMHNHFD,

24. There are two different formats that can be used to declare a reference variable
capable of containing a reference to a single-dimensional array. What are they?

Fill in the blank.
ERi & K. datatype[] arrayName; datatype arrayName[];
R AMERAETSAMMBGFN. Javaidb TPHE, PR A —BBATURA L

TR XX —:
datatype[] arrayName;
datatype arrayName[];
AHHBXARBELEARS, AAFHETHLIAXIRR. —&0E, F-HHY
XTikMk, F—F5XNEAFRE-ANEHALDEAOFTEEFA T, Hldo:
double[] MethodName();

25. True or false? The size of a Java array can be specified using a variable or a litaral.

Fill in the blank.
EHER: True
B AHEROESAHARIANE, BE-ARAHGRIARFFTX: —RAA
—AEF, RARA—ARAGK. ITFHEKALHNEFHSHRA, ARF
—HFARTFE TR, RARSALLBRAN, RE2oEHBAR D, L
HiEAHAAL, ANHREFATRBEAEA. REABFTRAT AL
MR EE, FEETARAAELELSL. REGFXLKARERME, HlRA
— XK.
class Test{
public static void main(String args[]){
int size = 10;
int[] array = new int[size];
size = 20;
System.out.println(size + " " + array.length);
3

}
AERAAAZKERIHE M, ARIKUE, FATEEAL, AFaYH




